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6UL� $\X� 1RYULDZDWL� �������� � $QDOLVLV� 7LQJNDW� .HWHUFXNXSDQ� -DOXU� +LMDX�
-DODQ� GL� .HFDPDWDQ� 3DGDQJ� %DUDW� .RWD�
3DGDQJ

$QDOLVLV� WLQJNDW� NHWHUFXNXSDQ� MDOXU� KLMDX� MDODQ� GLODNXNDQ� GL� .HFDPDWDQ�
3DGDQJ� %DUDW� .RWD� 3DGDQJ�� 3HQHOLWLDQ� LQL� EHUWXMXDQ� XQWXN� PHQJHWDKXL� VHEDUDQ�
MDOXU� KLMDX� MDODQ� GL� .HFDPDWDQ� 3DGDQJ� %DUDW�� PHQJHWDKXL� WLQJNDW� NHWHUFXNXSDQ�
MDOXU� KLMDX� MDODQ� GL� .HFDPDWDQ� 3DGDQJ� %DUDW� GDQ� PHQJHWDKXL� UHNRPHQGDVL�
WDQDPDQ� MDOXU� KLMDX� SDGD� UXDV� MDODQ� GL� .HFDPDWDQ� 3DGDQJ� %DUDW�� $QDOLVLV�
GLODNXNDQ� GHQJDQ� PHWRGH� SHQJLQGHUDDQ� MDXK� GDQ� VLVWHP� LQIRUPDVL� JHRJUDILV��
0HWRGH� XQWXN� PHQJKLWXQJ� WLQJNDW� NHWHUVHGLDDQ� MDOXU� KLMDX� MDODQ� \DLWX� GHQJDQ�
SHQJNODVLILNDVLDQ GDQ�RYHUOD\ �LQWHUVHFW���

+DVLO� GDUL� SHQHOLWLDQ� GLSHUROHK� VHEDUDQ� MDOXU� KLMDX� MDODQ� GL� .HFDPDWDQ�
3DGDQJ� %DUDW� VHOXDV� ���������� P��� 7LQJNDW� NHWHUFXNXSDQ� MDOXU� KLMDX� MDODQ� GL�
.HFDPDWDQ�3DGDQJ�%DUDW�DGDODK��� UXDV� MDODQ�EHUDGD�SDGD�NDWHJRUL� WLGDN�FXNXS��
�� UXDV� MDODQ�EHUDGD�SDGD�NDWHJRUL�NXUDQJ�FXNXS�GDQ��� UXDV� MDODQ�EHUDGD�SDGD�
NDWHJRUL� FXNXS�� 7DQDPDQ� \DQJ� GLUHNRPHQGDVLNDQ� SDGD� GDHUDK� SHQHOLWLDQ� \DLWX�
WDQDPDQ� NLDUD� SD\XQJ� �)LOLFLXP� GHFLSLHQV�� \DQJ� EHUIXQJVL� VHEDJDL� WDQDPDQ�
SHQHGXK��SHQ\HUDS�SROXVL�XGDUD�GDQ�VHEDJDL�SHUHGDP�NHELVLQJDQ��6HODLQ�WDQDPDQ�
NLDUD� SD\XQJ�� WDQDPDQ� WDQMXQJ� �0LPXVRSV� HOHQJL�� PHPLOLNL� NHWDKDQDQ� \DQJ�
VDQJDW�WLQJJL�WHUKDGDS�SHQFHPDUDQ�GHEX�VHPHQ��.HGXD�WDQDPDQ�WHUVHEXW�WHUPDVXN�
NHGDODP� NDWHJRUL� SRKRQ� EHUXNXUDQ� VHGDQJ�� VHKLQJJD� GDSDW� GLUHNRPHQGDVLNDQ�
XQWXN�GLWDQDP�SDGD�MDOXU�KLMDX�MDODQ�

.DWD�NXQFL�� -DOXU�+LMDX�-DODQ��7LQJNDW�.HWHUFXNXSDQ��.HFDPDWDQ�3DGDQJ�
%DUDW


